J. Roth






Name:___________________

World Masterpieces 272

Experience #2—100 points possible
Directions:  Please answer the following short-answer questions.  Please remember that since this is a “W” course, part of the points awarded will have to do with your use of written English.  Each question is worth up to 11points—since there are ten questions, it is possible to earn 110 points out of 100.  Any points earned above 100 become golden bonus points (extra credit).
1. Consider the following line from a Blake poem.  Represent its rhythm pattern in the blanks below it by using            for unaccented and          for accented.

Tyger! Tyger! Burning bright

____   ____    ____    ____    ____    ____    ____

In Browning’s “My Last Duchess” (Poem #1), the duke describes his last duchess as a woman who had “a heart too soon made glad . . . , / Too easily impressed;”

2. What does the duke mean by this?

3. What does this observation about the duchess reveal about the duke’s opinion of himself?

4. Please turn to “The World is Too Much with Us” (Poem #2).  Please write the poem’s rhyme scheme (not rhythm pattern) in the blanks below. 

___  ___  ___  ___  ___  ___  ___  ___  ___  ___  ___  ___  ___  ___

5. Consider Wordsworth’s “The World Is Too Much with Us” (Poem #2) and Walt Whitman’s “When I Heard the Learn’d Astronomer” (Poem #5).  What theme do they share about the societies and historical times  in which the poets lived?
“Ulysses” by Tennyson (Poem #3) 
6. What does Ulysses reveal about his basic nature and what does the poem suggest about whether or not a person can change his or her basic nature?
 “Tithonus” by Tennyson (Poem #4)
7. Briefly, describe the narrator’s situation

8. Consider Whitman’s “This Compost” (Poem #6).  In line 38 of the poem, the narrator tells us “That this is no cheat.”  What is the “cheat” the narrator is referring to?
9. In Dickinson’s “There Is No Frigate like a Book” (Poem #7), what fairly inexpensive activity is the narrator recommending?
Manifesto of the Communist Party by Marx and Engels
10. Please answer “yes” or “no” to the following question and then briefly explain your choice.

      Darwin’s Theory of Evolution proposes that higher life forms have evolved from lower life forms, and that this process is inevitable and continuing.  Given that, does Darwin’s Theory of Evolution support Marx’s contention that “a classless society” can be achieved? 
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